%! % %? % Q% 3 53al) &l S Adeliaa

ol: Al
9+ 72 (6x + 1) (7+ 7Tx)(6x + 8)
(75 + x+ D)(x— 5) (9 + 9x)(9x + 3)
(75 + 8x + 8)(2x — 2) (6— x° (4x +9)
(7x* + T)(3x — 5) (4x — 9)(3x— 1)
(x+ 9)(5x — 8) (2x* — 3x—3)(3x— 5)
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Asaall Gl S ddeliaa

ol

9+ 7 (6x+ 1)
42x3 + 7x2 +54x+ 9

(7% + x+ 1)(x— 5)
720 = 34x% —dx =5

(7)(2 + 8x+ 8)(2x — 2)
14x° + 22 — 16

(73% + 7)(3x — 5)
21 — 35x% + 21x — 35

(x+9)(5x - 8)
5 +37x—T72

Al B

(7 + 7x)(6x + 8)
425% + 98x + 56

(9 + 9)(9x + 3)
81x% + 108x + 27

(6— 2 (4x+9)
—4x’ — O + 24x + 54

(4x—9(3x—1)
12x% = 31x+9

(2x% — 3x—3)(3x — 5)
6x> — 19x% + 6x + 15
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